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INOTE:Four possiile answers A, B, C and D o each question are given. The choice which you think is

correcl, fili thal circle in fronl of tha guestion with Marker or Pen ink. Cutling or lilling two or
mare circles will resull in zero mark in that question,
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Prove thal: sin® 6 - cos® @ = (¢in? 0 - cos? 8) (1 - sin” 0 cos? 0) hx

1 A%
Prove that: sin 107 sip 30° sin 50° sin 70° = 6 {without using calculalor) B:n,

Prove thet R = 4h,\ where 3, b, ¢ are the lengths of the sides of triangle and * 4 éannles the

arga of triangle. : ; 5

120 12 5 iyl 253 Lo

Prove that (i) tan ygg = 208793 (i) sin'q3 13 73 i 25 oos” 5% 3725 i
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Masimum Mavks: 20 (OBJECTIVE TYPE) Time Allowed : 30 Minutes

'NOTE Four possihic answers A, B, C and D to each ‘question are given. The choice wiich you think is
correct, il that cirole in front of that question with Marker or Pen ink. Cutting or lilling two or
more circles will result in zero mark in that question.

Q1. 20
1. A dsce s rolled once then the probability of 3-or 4 dots oo the top is

| 55
(A1 3 (Byz- o €
5 T :
© 3 o
2. If in usunl notations "C6= "Cy then nis equalto -
{Ar b (B) 8
(€y 2 D) 14
3. The expansion of (3=5x)"7 is valid if :
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(©) i< | o<
4.  In the expansion of (1 + x3 the 4th term is o :
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The period of 3 sin x iy
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\ . 2 A
(R i

A

(D-} < —b

Lo Doain of principasl sme function is

Lgn L
W

e ‘E';_ " I\d 3 J.
13, “Hhe -‘}_‘“@‘ﬁ,}?ﬁ’fﬁ?}'ﬁiﬁ‘ W cus |
A w‘l | (ﬂ) /4
. : r
. 5 e
\L <o , ‘,a({J} /3 : -
12, Mupliplicaty e inverse of cnmplcfxi‘n'umfbcr W -hyis - :
(A i 1:0) Gt PRI
(L) (1.4 -"(D,}iﬂe"*’:l)
13, The contra-positive of p = q'is, ) e o
(AP - Li(B) g =2 Tp : .
(00 g %\ B o () g Hprie
P4 ahe matey |y g issingulardbe =0 0o

H
3

(s s e
3 e S8R
(1 o

5
15 dfaadrivA= l 021 ! then the catactor A=
g : iz

’z‘\; : | ! iB} 2 : £
i -l ' : (1) =2

2



316/2019
- -«

t

ve podos o eygudiion v SN P A= U Wil hie

¢ - .
i R T |
L >

i

fhe fractson 00
& 1 Pkl B Mo
CA PR fruction
AU Lguatied

tf, - dn -1 then nth term s

il
e
5

Artthmetic moan between 2+ .2 and

Sy

2

114 Laual

(1) Improper [raction

(1)) Polynomial

"l

i3) dn

) 3n -
S O
AB) ¢
“no

tJ

P ’\.‘:‘

3i



3/16/2012

Rall Nu. _(Tw be miled in by the eandidate) f T %

ot r!ajt -

Maninnnm Marks: 8t (SUBJECT]VE TY;HE; : .’l‘flim‘{"‘ &liu“cu 230 Hour

Qz.

Qa.

g Balvexd v 2 b iﬁclr:rtﬂlipli'r e

h

AR b%@ hﬁe %ﬁ

Attempt any eight parts. {16!

th o Lictipe terrmul'utnwlicuiﬁsl Giive one t:ﬁu.ritf;lc

\ili'E i'md mu!'.:r.a.n.sllu mverscof - 4.1 '

(41 Sheas thay VAt 47 7* s o rea) number

{ivy Write Iy v e O - 35T hmdhe aicscriptii*c);_md‘m,hﬁl_a‘r.mnn o

iv)  Wrile converse, contra positive of g -

vy State Domnin and range o relaiiom ) | N y = A diE a6l
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_ T o0 12x11
Py by Fandd thes vaiue of powhen o and (b ""-T""‘= (07 staeis for cutnlanat

pins There are S-preen and 3<red balls g box, What is the probability 6f gething o green bt
eago- Lisesmthenutical idoction W veniy dhe esult form - L2 1= 20 = 2 27
s Caleulnte (2028 by means of Binomin) teorgm

ta) boagand ap o 3 P taking the vabie ot aoauch that the expansion is vatul (82

e, Anampi any ning. paris : Tt B B e _ {18)
() Wi rife = 56 om. 0= 45° gl iy _
G0 Find x i un® 45° - cos® 60° = x sin 45° cos 45% an 60°
it e T B (L
(i) Prove cos‘ - sin“ = 13 1a830
(ivi Prove that cos 3067 4 cos 234% + cos 162°+ cos 18 =0
fv) lTw 1an {3‘“) -tan "““ﬁ) =)
; | —gosw + i : | e .
v} Prove ,;:‘(: =~ = an ‘3 : : gixinhsfaoad .
ivii) Find the period of tan 5
{viiiy In the rightiriangle AABC , = = 37°20" a = 243 R 90°, Fmd "B" nncl ne
~iin) Findthe area of a AABC, in which: B 18, ,lb 24, ¢=80.
ix) ProvethatR = 7% ,wuhwu@.nmi_:mg» : 5 :
(xi) i’mvn tant A + an ' B=tan’ |
i § welill
{x31) Find the solu}:em oﬁhg;‘g 0N Sec X i ; S o
t‘w:?‘tmd ﬂm vnk)cs of . satisfying e equam:mE !aim"(%ri 34— “"!au 6:-%_‘-:1 =0 : e
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X atk h+,ca e
(h) Without expansion, Prove tha! & bt -‘” -0_ g : _
X B a-i-b o i S LIS o
Q6. (a) Show that the rools of (mx + ¢)* = Aax'wg_.bg:gquallhg = % | o | "
(b} Resolve Qjﬁmﬁi into partial lmcﬂnns
07. (a) WS, S, 8, are the sum of 2n, 3n, 5n: turm ni Arithmatic ngrasslnn (A P), Show. !hat Ss
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Hy= g+ |5/ +~-'g-!-~-t§p B Snaninat then prove that y2+2€y-4=ﬁ 5

HeolB = 15’8 and the 1erminal arm of the augle is not in qnadrant‘! Fimi the values of cos ©

antl cosac O

Reduce sin® @ to an expression involving only funclion [ mutlgg nl
pOWET. i
Solve the triangle ARBC, using ﬂrsl;lpwx
a=83¢ -—gm sndf} #Qﬁ*’ L
Prove that: sin A »ﬁn : B = sin (ﬂ-\ﬁ-.-ﬂi‘ +B/1-A) ' 5
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